25

A 1T =2 v = %
4 HATIEK AT P24 K (SR RY) * 7 PE ¥ K B OfE
4 KFHIZNRTYIR—ILRY—)ILERRR) = U & B £
N S 2 342 (ER 1% ELFSNR—Y % F
4.5 AL ARG I H—IHE (B> T1—) Bilalia=T 44— LY
5 Ay Y 2R — T AR AR S E L K F  OfF
5 2550 (0] 55 H U 75 50 M X SR A 5 T K S v A= S 1= R -1
511,19  EF=NETFHE(T=XR) X 1 E ¥ K F OfE
11 (RS RSB S EIES e oo ® B fF
11,12 PIvaose—gR—n g Ak IS - M a2 - 2 1 LK A
12 23 B EUR R AR —Y L 7)o — g 8% (AR B R TNRN =7k F
(HLER) m R K F  f
12 F682[AKXFHiE N IKYEHITHITRE T Xk @B & R £
= o EBESK—49 %7
12,26 KFSTE—RI—IL H LK G - B E S
R Skala=T 44— L.
18,25,3/4 #&REMUL4 (Y A1—) EBRI R — 7 kTR 85
19 VETHHERE (Yo —) Bikala=T 14— LY
. R . Yo R TR — kT
19 Vo R XA A ER S TR R
19 |#EEE A (SrrAR—L) A
29 U-16E Rty (o —) %g Fz /;EF 7 K j/%
25 5526[0] S HUR NEA SRR RS ORIV hY) X 1 E ¥ K F OfE
26 BKAVRT IVI AT T IVA(TiE) (T=A) >+ T
26 H L~ ~ S AL — R L) — B B wmE - m kIR FE
26 s b S (R—7"R) (5EK) T F K F B
T FIERFHRRAF—KE KLuAEI74040byY —F




